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_ Simple Probability

What does P(some event happening) = O mean?
T+ will #oT  happbn

What does P(sotme event happening) = 1 mean?
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The owner of Pizza Palace kept track of the types of crusis used for the last 1000

pizza orders,

Thin Cru;:‘r 540 Thick Crust 285

Pan Crust 138 - stuffed Crust 37
a. What ig the probability that the next customer will order thick crust?

Find P(Thick Crust) Show your work, I,

PCThick Crygs )= B - 2= 2g5 = 285/
l)o 00 100
b, Find P(Pan Crust). 5haw your work.
13€ 69
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c. Find P(NOT Stuffed Crust). Show your work.

PLWOT Skaféed (rusd) = -——-—/fij - ,463C 95 3 -”/0

d. - Based on this information, of the next 200 pizzas ordered, how many will have
*THIN Crusts? Show your work. ¢y0 X 108 Thin Cra
fpop ~ 200 Pt=a

(000r= (O 8')00‘0
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Assume that you roll a fair die. (All numbers 16 are equally likely fo be rolled.) Find
each probability, '
.,L b, P(Two or Five) — Z = ,J-
6 € 3

P(Even Number) 3__ S J_ d. P(NOT One or Four) __‘L,_ E—__
6 C ' , e 1

a. P(Three) =

c.
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The spinner to the right is spun one time.
Find each probability.

a. P(Even Number) - ,& - )., ' b, | P(Multiple of Four)
' (v~ C =3 .
. v~ Y
c.  P(NOT5) =~ U— d. P, o0r5,or7)
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There are 52 cards in a standard deck of playing cards, :
There are __ (8 _ cards in each suit. (Hearts, Diamonds, Spades, Clubs)

' Assume that one card is drawn at randomn from the deck. Find each probability.

a, P(Queen of Diamonds) - b, P(Any Queen)
5 Fe=, i%
. P(Spade) d P(NOTaClub)
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e. P(4of Heat*’rs or a Diamond) f, PCAce ora Juck)
e | . ]
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A vending machine has 5 different types of beverages. The owner of the machine kept

track of the last 2,000 sales,

Fruit Punch 746 Aloha Punch 524
Apple Juice 98 Orange Juice 282
CranApple Juice 350

a, What is the probability that the next can boughT from Thls machine will be
Aloha Punch? P(Aloha Punch) -
Yy o 261 /
Sty s Jfal 261 6.2

——

P(Moha Puach) = 2000 - P90 T g =

b. P(Any Juice) . |- P(Apple Juice or Aloha Punch)

PCAay Tuice ) = 200 - PCAPp\aj)'ufte o Aloha Pundk)
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